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SECTION i : INORGANIC CHEMISTRY

QUESTION 1

Define the following terms and phrases.

1) Composition [5 marks]
it) Chemical symbol [5 marks]
iii) Freezing point [5 marks] e
iv)  Mixture [5 marks]
V) Matter [5 marks]
[25marks]
QUESTION 2

Calculate the formula mass of jarosite [FeSiO;] given the following atomic masses:
Fe =55.847 amu, Si = 28.0855 amu, O = 15.994 amu. Allow four [4] decimal places for
your answer. [10 marks]

Determine the per cent [%] element composition of jarosite above.
[15 marks] :
[25 marks]

QUESTION 3
Calculate the number of atoms of hematite F e,0; if it weighs 10 g, given the following
information. Atomic masses of Fe = 55 847 amu And that of O =15.9994 amuy.
Avogadro’s # = 6.023* 102

[15 marks]

Use the product rule to determine the soil pH values given the following hydrogen
concentrations:

i) 0.0001M [5 marks]
i) 0001 M [5 marks]

[25 marks]

¥
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SECTION 2 : ORGANIC CHEMISTRY

QUESTION 4
Define the terms and phrases. Include a structural formula where possible.
i) Hydrocarbon [5 marks]
ii) A meta director : [5 marks]
iii) A saturated hydrocarbon [5 marks]
) A phenol [5 marks]

Determine the molecular formulae of the following statements :

i) An alkane that has 4 carbon atoms [1 mark]
1) An alkane with 8 carbon atoms [2 marks]
iii) An alkene that has 8 carbon atoms [2 marks]
iv)

QUESTION 5

Write the TUPAC names for the following organic compounds:

1) CH.:;'CHg = CH;" CH‘ Cﬂg

H,- CH,- OH [3 marks]
if)  CHy CH,- CH, - CH, - CH= CH- CH, [3 marks]
iii) CH,-CH=CH-CH,-CH, [3 marks]
iv)  CH,-CH,-CH,

(..,Hz = CHZ ! Cﬂ. -Cﬂ2~Cﬂ3 [3 marks]
Br
i) CH, - CH, - g = CH -CH, - CH, [3 marks]
2l

Write condensed structural formulae for each of the following compounds

i) 3-methylhexane [2 marks]
i) Propanol [2 marks]
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[25 marks]

[15 marks]
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1) Cyclohexane [2 marks]
ii) 2-Hexanol it [2 marks]
iii)  3-Methyl-4-octene SEEre S 0D k]
[10 marks]
[25marks]
QUESTION 6

Copy and complete the following half reaction equations:

i) CH;-CH,CH,-CH;, + 0O, = [5 marks]
i) CH-CH}CH=CH, + HBr = [5 marks]
iit) CH;-CH,-CH=CH, + Br, = [5 marks]
iv) CH,;-CH=CH, + €l = [5 marks]
v) CHeCHICH, + 50, = [5 marks]

125 marks|



